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Tusvnaunimiunnus:mshdalusvnauidasniu maoulfbendirniu
ndsyunoaguanawnsevsudaadoulfvuud:lounaimniu
X
A , B
7\ 7\

°* 0O MANWENI AXB = Ao CYD
N\ N\
nas AOB = COD
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Tusvnauidaanu yuludosulAvuevavnavnsovsudaadoulAvidasnu

D=Juunaminu

- N\ N\ N\
i ACB = ADB = AEB
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yuRDaguEnavydLIVNAUD:TUNAITUEDLIMUDLULNAUD LU
TudoulavuovovnaunsovsudaadoulAvidasnu

C

A\ A\

AOB = 2(ACB)




yuluaSvavnauiuvuna 90 ovmM KSoKULYUDIN

A o
ABC = 90
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1. thdouvoviduasvavainfunosanddrdouvoviduasbuud:=nuvaAsvaosa

f OC L AB nas> AC = BC
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2. hdouvoviduasviuvaAsSvaAosSa NasdouvovIdudasbuud:=avaNNuAosSa

- _ A A o
M AC=BC nas OCA =0CB =90




IduduWaovnay o:AvanAusSAiiuovILNaUNVadUWE

- & =
M AB auwdadvnaunaa C nas
OC 1Uusniiuovovnavnad
N\ N\
OCA = OCB = 90°
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douvopIduasvnaNININDAs KUL MEaUdNIVNAVNEUWEILNAUITGEINU
p=endimnunazuldaevidu

A

. p PA =PB
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yuludoulAvuevavnaunosiasviununosauu
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A\
ACD = CED




h

1. P dudadusinaybudvavnay bRosa AB na: CD danu
[~ A A -l B e
IUuyuon APD + CPB iifnmls







h

2. mnua ABC 1duahwinaauduiiy TR P iUuoanesdiuvu  AC
faanyu PBC = 23° dosvd BP Tuouiivoa Q Taanyu
PCQ = 67° svmuwnauoavyy AQP
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3. 0InsU AB 1Juliduwiufugnaibyovovnay AB = 4 1sudiuas

_ A A w.n.LJABCD
BC = 3 1sucaiuas , ABD = DBE pvm
w.n. A DCE
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4. T ABC iUusUahuinaau na: M dupanvnawdiu AB
M CM = AM = 5 huddg nia: BC = 4 /5 AU2dE nad

Wunsuawinaau ABC ImAunmsbruoe (MWIT)

1. 15 2. 20 3. 24 4. 30
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5. sUdinaau ABCD i «BDC = 10°, ZCAD = 40°
na: #BAC = 2CBD = 20°
M BD = 12 KuU2d 1d87 AB ImnAunKuoé

A

1. 8 2. 9
3. 10 4. 12







h

6. sundainaaunduend 1, 2, 1, 2, 1, 2, 1, 2 KU2E MUaGU
nuuagiuovnau dosum R 10uSFAiuovILNAUILU Na:
RZ = (@+b42) 4 2(a + b) Aurla (MWIT)

2

N\
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7. 9.nsU OAB 1UUIBNICAOSUDLIVNAUNUSFIEND 20 KUJE Na:
AOB mv 90° iASbovnau P na:=ovnau Q ussoméludvsuy
DbMmSsFiJuovovnay Q

1. 4.25 KU9E
2. 4.5 nuodd
3. 4.75 hudd
4. 5 Huoé&
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8. mnuali OO ABCD idud@inaauyuain na: C idunafgugnaiv
yovdasuvovoIvnay BCD sAJ 10 1suciiuas na: [ CEFG

UA2WENISOUSUIMNU 26 15UdINAS DOMAIENISDUSU BDGE
(MWIT)

A B

|

10

]

D G C
10 ——
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9. sUhnInaguduinenadua: 6 U d@sunisimiswunnnsvud
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10. f AB = BC = 2 laaiinSvovnauoguudiu AB na=du BC

dosu ndawunadosunnsimiidunmsivhtsa (MWIT)

A
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11. mnuali O, B, D iWudafAusnaLUdLIVNAUNTSFLIEND
4 BUsEIiAU DLHWUNISID
57T :
D B 1. 8( 3 ./5 ) (MSILAUDE

2. 6(5TT - J; )  MSILAUDIE
A ¢ 3. 4(27T + 35 ) CNSILHUDE

4. 43T + f3) eswnLod
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12. Square ABCD has side length 2. A semicircle with
diameter AB is constructed inside the square, and
the tangent to the semicircle from C intersects side

AD at E. What is the length of CE ?

D C
A.z”zjg B. /5
5
C. J6 D;
E. 5 -5
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